& (5000) K2 LIEFE 2:(5100) K & x| AF2 &H:(5110) K & XH AF &t MI&E:(5111) Kl &R AF &t HIAIEE: (310) XI 2 RH &f &t 2[R EH]
of Ab o | 1l N N = Il =
.2 & HEL NAE =2 ol &b oA = A 2
5000
N2 EFEY] 21,574,182 16,733,786 4,840,396
5100
INEEL PN 12,603,240 9,677,182 2,926,058
5110
X XH A & 12,603,240 9,677,182 2,926,058
5111
KIEXH A& 12,603,240 9,677,182 2,926,058
300
TR A 12,603,240 9,677,182 2,926,058
310
K 2T A & 12,603,240 9,677,182 2,926,058
311
INEEE=L0IDN; 2,564,540 2,538,782 25,758
1,817,900 1,703,142 114,758104 =L & F X = 4AHEH0| At
o '084=oiERAIS
2 & (434,000,000 )-J1 & (417,150,000 ) = 16,850
o ENMAUHTZZIHA
2 & (58,000,000& )-J1& (55,620,000 ) = 2,380
o FEAMWTHILA
Z2&(101,000,000& )-J1&(92,700,000& ) = 8,300
o THHIALMIAXTAE (20008 =)
23 (235,000,000& )-J1& (216,300,000 ) = 18,700
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&:(5000) KA LIIEFE 241 (5100) XI 2 RH AL 2 & (5110) KISt A S MIE: (5111) X2 xH A& NI AIEE: (310) Kl 2 XH & 8 [ (el ® ]
oo oo | oo & - ol =
=B E S AN = I B N
1,200,000, 0002 = 1,200,000
o READIIIE Fou ~150,000,0002 =  A150,000
o EHHI=MIXL(2000EE) M2
~150,000, 0002 - A150,000
o SofctamRRAL('0HE)
245 (299, 300, 0002 )-71 & (299,000, 000 ) - 300
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& (5000) X #SLIIEHE 2 (5200) MIXIES & (5210) MXIE3 Mg (521 NXIES NI NIt : (420) D1 E ][ 3]
of Ab o | 1l N N = Il =
.2 e ME L NAE = o & 4 =5 A 2
5200
NXE= ,312,211 928,354 383,857
5210
HNXE3S ,312,211 928,354 383,857
5211
HXIE3 ,312,211 928, 354 383,857
400
HBlblS 312,211 928,354 383,857
420
JIEL ,312,211 928,354 383,857
802
BrEt = JIEH ,312,211 928,354 383,857
935,311 639, 106 296,205|01 =212 Xx3ttes

2003 EHZ "OHOI" HISH=7(HEAIE)
23 (32,839,430&)-71&(33,130,800&)

2004 EHZE "MD" TIHER(0EAIA)
291,380

20043 = X [HEHH| 9,080,000<

2004E EHE "OI0|" DlHER(2E2L)
3,213,450

ClotA Sl DHEtG B 2,978,000<

Hotstm DEA B4 4,609,000

A 291

292

9,080

3,214

2,978

4,609




1 (5000) K1 2 IIEF2 2 (5200) M KIS 2 5t (5210) MIXIZ2 M (5211) MK 52 MK (420) 71 E} e[ M)
of Ao | ul - A = I =
a2t & NS MAlE =2 ol A oM = A2

o QUAl HISH 2dH=T 10.657.0002 = 10.657
o Z=AED EXNY 239,059,000 = 239,059
o TAAMES MABAEA 1,800,4008 = 1,801
o YS0t USH 2L 534,0008 = 534
o 2004 ESAA JSEUAY(HEORIO0IE A=)

12,958,000 - 12,958
o 20043 SA0D % CR2MSIHTBA

10,117,000 = 10,117
o NE11EM HEHSZA 9870008 = 987
o E=XFISH 2YXA 5o 210,000 = 210

376,900 289,248 87.652/02 Al - SHIEX2u82

o 20034 EHE "OH0I" WoH=T(0{BAIL)

25 (26,319,8408 )-1 X (6,618, 2009 ) = 19,702
o 20044 EHE "HIII" W= T(0{BAIL)

189,260 = 190
o 20044 EHE "HII" W= (RY2)

1,285,380% = 1,286
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A = Il
UANEA OHEY 24 893
Holgtn DA 24 1,382
LQOIAF ISE #oll= 3,197,0002
Fade EX0Y 30,736
AREDE 24 525,
ASIAF B 370,
ol=o 24 18,188,
ST B 495,
SeNe 25 47,
AN B2 429,
A0t YSH 2YXA 160,

2004F ESAE JISELZAML(HEAHAE0IE
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&1 (5000) XI'& L IIEHE 2k:(5400) 01 bl & (5410) MBI El AIg:(5411) 0l HI ] AIAIE : (410) ol 81 HI 2F][E: ]
of AF oM | ul . At = Il =
.2 g A MAE = of &b o s A&
5400
olgl gl 7,658,731 6,128,250 1,530,481
5410
{=}:) 7,658,731 6,128,250 1,530,481
5411
oilgl gl 7,658,731 6,128,250 1,530,481
400
olelgls 7,658,731 6,128,250 1,530,481
410
olgl Bl 7,658,731 6,128,250 1,530,481
801
ol g1l 7,658,731 6,128,250 1,530,481 < OfiolBl
Z&(7,658,731,0002 )-J13 (6, 128,250,000 ) = 1,530,481
A& & 21,574,182 16,733,786 4,840,396
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